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1. (Fmd the length of F HK, given that JK = 70. dy—3 el Sub v m K <G,
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2. XY has one endpoint located at X (— 1; 12) and the other endpoint at Y (2,4). What are
the coordinates of the midpoint of X¥? Y X2 Y.
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3. M is the midpoint of AB. Find the coordinates of the missing endpoint B if M(~3,1) and
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4. DB@sects <ABC. Find the measure of/z.ABC j
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3. Giventhat meD = (2x + 30)°and msE = (3x + 40)°. If 2D is complementary to £E, then find
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6.  Find the length of PQ if P(3 —/‘9) and Q( %, §) Write your answer as a decimal rounded to one
decimal place, if needed. Usquthe distance formula or the Pythag%%an Theorem.
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7. Find the coordinates of the image of the point B(3, —4)
when it is reflected across the line x=-1.
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AABC is reflected across the y-axis. What are the
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8.
coordinates of the image of B?
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9.
along the vector (2 —-1)?
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about the origin, then what are the coordinates of A4"?
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What is the image of point P(-4 4 —3) after a translatlcn
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Given point A at (5,4). If A is rotated 90 degrees counterclockwise
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11. Given the diagram as shown, which statements below are true? Select all that apply.
£2 and £7 are alternate interior angles.
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£3 and 26 are corresponding angles.
£8 and £7 are consecutive interior angles.
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13. Solve forxlf a// b.
JCO presporclin f]cu m are =,

..... YA =3 v 17T (2x + 40)
'“? x -2x a
AO =y +\]j/
e -7+
23 =X

14. Find me1ime2,and me3 in the diagram at the right
0) A\ SUy \1“0 («)3 Fabevioe £ Thvm. (j"\

; b L Thie
ATHBB47 130 LA = ATVRO0 LoD = 3 A7
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15. Find x and y in the diagram shown. 16. Findgandb.

— D lineay pair
Z’)%)JV ?)}é{ 3 ©O°

2}?%%xwﬁys -
28 e 28 2b 370

@) vevrheal 25 = ﬂ o IK = \D? () YI/ | (\‘j]‘\J], necr uf\i -
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17. Complete the s 110 ism below. .1 :
¢ |If it snows on Thanksgiving] then Tony will build a snowman.

¢ if Tony builds a snowman,¥hién he will take pictures out51de.]¢~’ c

Conclusion: \.} i SNows onThan \<<e>c3ivm(3, hen he will Jake piciuves
owside. L

18.  Given that ARGV = ARG, then compiete statements:

2G= L (0;P0= QO ;2P= LR

19. Refer to the figure to complete the congruence statement:

AKLN = ARVIN.
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20. Which of the sets of sides below would NOT form a real triangle? Select all that apply.
A, 39 35 6 B g
55,9 5>
7, 7, 7 147 S “_'l_
D. 2,813 2+8< Vv

21. What postulate or theorem could be used to 22, What postulate or theorem could be used to prove

prove that the triangles shown are congruent? that the triangles shown are congruent?
w M A. SSS
3-$AS | 5 B. SAS
C. ASA ALS L C. ASA
D. AAS % c S D. AAS
E-HL = Q @ HLD
K
23. Write the equation of the line, in (h, k) form, 24, Wnte the equation of the line, in (k, k) form,
that is@\o y=3(x—2)+1and i toy = ‘(x + 4) — 2 and passes
passes through (-5, é). Wii% through (— 5 8). L. M= L
R - hi 6
)= ro)+4 \
O L e LA
b b {‘1(“ 1 **E l 3 f 2 f ' g % o
n J N hos asgn Onc nGe
25. Find x. 26. Find x and y.
Qyy B2 =180°
A EA0 S \%ﬁ y=1et g%o
x4 //‘ 180
G0 99 D___.l
ﬁf’ o C(B ‘ : :
“)g - L= B2
ooz o] =
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27. Find g and b in the triangle shown. 28, Find x in the triangle to the right.
‘5 Y _!_ 5x+ 2
__\,i"_l_mm___ﬂ_ e V7l
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29. Find the perimeter of the triangle from #28. € =40 ecch

O+ 087[ (o = lgC)O B2 = 1T | Ofyer

a-‘*"gﬁﬁ =160° k=P |P=% .
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For #30 - 31: use the&quilateral triangle shown to the right.

30z- 20

30) Find x. 31) Find z,
0~10¥ 0z =20= ) g4 282 + 4
70 o 28z OBz
- 2 —7 / Mi\
- Ze24 }
o I A R

32) Multiple Choice: What is the reason for Step 27

o KN ;
Given: Kf = JH o \
Prove: Jis the midpoint of HK. . §1:11) !k%'l;’?iﬁhﬁ e H yooK
1 Kj=TJH 1) Given
2) I is the midpoint of HK. 2) '\

. A),;/Tf a point is a midpoint, then it divides a segment into two congruent segments,
B) If two segments have the same length, then they are congruent.

o If two segments are then they have the sarfic length.
@ If a point divides a segment into two segmcnts, then it is

1 /2 o R N e :
For #33 - 35: Complete the proof. Use the choices below, a/3 "'YC\G{ 30(“1 Q%\__%?Ei
K COYYES .pf)‘,“(f‘.\mg L8
Given: m || n ?‘3”5"”“/"}7" ) 85 76 .
Prove: £4 = /8 e., ot \/
Statement Reason
L#3 R 1. #34 )\
2. 24 =8 2. #35 T

Options for #33 — 35: Select the correct statement or reason. Not all options will be used. Write the
letter of your answer in proof above.
A))Given m Il n C) 24 =¢8
@ If lines are parallel, then corresponding angles are congruent,
If lines are parallel, then alternate interior angles are congruent.
F) If lines are parallel, then consecutive interior angles are supplementary,
If corresponding angles are congruent, then lines are parailel.
If alternate interior angles are congruent, then lines are parallel.
)/)’ If consecutive interior angles are supplementary, then lines are parallel.
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For #36 — 38: Complete the proof. Use the choices below.

Given: £HZK = +MZK;, +H = s+M
Prove: HK = MK

Statement Reason
) ZHZK & ZMZK; cH= M|y e
2) ZK = 7K 2136 () Rellexive Droperty
3) AHKZ = AMKZ NBN O KAS
4) AR =TWK 9#38) (F) CPCTC,

36) Multiple Choice: Select the correct reason.
A) If lines are perpendicular, then right angles are formed.
B) If a point is a midpoint, then the segment is divided into two congruent segments,
Reflexive Property
D) Substitution Property

37) Multiple Choice: Select the correct reason.

SSS B) SAS C) ASA

(D) AAS E) HL F) CPCTC
38) Multiple Choice: Select the correct reason.

A) SS8 B) SAS C) ASA

D) AAS E) HL CPCTC

39) For the triangle to the right, list the angles from least to greatest.

|20, 26,2 F ]

40) For the triangle to the right, list the sides from least to greatest.

e HI4H3 4202 180° T
e L@ =70° )
X@\D,G) }PR] I o Vo
- ‘ Q —10
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For #42 — 44, use the diagram shown, where ZX is the perpendicular bisector of WY.

42) Find a.
2=5 W
10040 ( Oi Lo & "’"QE 7d- 13
43) Find b. T o R A J2b +3
T ' “'1’”|:2m . 5 loa‘g.x
jb*J = N U
44y Findd e 43612
14 -13 2d + 15
~2¢) Y

T = _ ;:;} '
45) Find the perimeter of AACD if AB is a median.
DX q"” -l CB=E(8) -q = 2
MA‘X T X G

%/;f‘

For #46 48 Find the requested values if TR isan altltude.
46) Find TS. _ e
L2¥F==e*  feojion

Blotbd=C% oy Jﬁ:%%;ﬁg

47) Find d.
3(:& — :q o . - ,
A ’! e
Sl =00 L T
48) Find the area of ARST.
lox % /j 8 -

49) Segment ! PQ is drawn from the vertex of a triangle to the midpoint of the opposite side. What type of
segment is PQ?

A) altitude C) midpoint D) perpendicular bisector

50) Segment JK is drawn from the vertex of a triangle perpendicular to the opposite side. What type of
segment is JK?

A) altitude B) median C) midpoint D) perpendicular bisector




